Pneumatic grippers FC

Series 6300 FACTOC!( ONENTS

PNELNMARX INDUSTRIAL SUPPLIES AND FACTURING EQUIPMENT

} Parallel style pneumatic grippers - Wide opening

Coding: 6311.3.D.@ Overall dimensions
BORE
10 =010
16 = 016
@ | 20=020
= . ., cEnzmes e § ngoson e
= F (Rack
40 = 040 ‘ ‘ > 8
STROKE 7 N T
=20 mm (@10), 30 mm (016), 40 mm — $ fﬁ_é = r@ @ ] 5 \) {5/ =4
(@20), 50 mm (@25), 70 mm (@32), 100 N 4 sensor "o @ @i 5 I e B h <
mm (940) ~ = | |
1 = 40mm (@10), 60 mm (@16), 80 mm OFA (Piston rod) - EI i | } } J
© (©20), 100 mm (@925), 120 mm (@932), 160 /'? r L <2 J
mm (940) N. (4 threads) ! NB « LA T ZB closed !>
2 =60mm (210), 80 mm (&16), 100 mm LE = L ZB open
(©20), 120 mm (@25), 160 mm (@32), 200
mm (@40) ZG open
Coding examples: ZC
6311.10.D (Stroke 20 mm, @10) ZD
6311.10.D.1 (Stroke 40 mm, @10) Sensor slot OM (H9) ODB (H9)
6311.10.D.2 (Stroke 60 mm, @10) detail type “B”
o 7 ‘ 2] =
° 7 —
66 oc
B (n. 4 threads) D (H9)
ZE
5
<
) Bore 210 216 220 225 232 240 EVE
= |A 31 39 46 52 68 79 Diameter operating
O |aB 44 55 65 76 82 98 (mm) frequence
< 5 \ M4x0,7 M5x0,8 M6x1 M8x1,25 M8x1.25 M10x1.5 cicles/min.
O | Useful depth 8 10 12 16 16 20 6311.10.0 60
= [BA 34 42 52 62 64 76 6311.10.D.1 10 40
<C |@c 45 55 6,6 9 / / 6311.10.D.2
S [ 3 3 2 2 6 6 6311.16.D 60
35 | Useful depth 3 3 4 45 8 8 6311.16.D.1 16 0
LUl [DA 4 4 5 5 7 7 6311.16.D.2
= 3 3 2 2 5 5 6311.20.D 60
@DB"e 6311.20.D.1 20
o Useful depth 3 3 4 45 8 8 40
c M4x0,7 M5x0,8 M6x1 M8x1,25 M8x1.25 M10x1.5 6311.20.D.2
Useful depth 5 7 7 7 11 16 6311.25.D 60
EA 9 10 1 12,5 22 28 6311.25.0.1 25 40
OF 6 8 10 12 14 16 6311.25.D.2
FA 6 8 10 12 16 20 6311.32.D 30
G M5x0,8 M5x0,8 M5x0,8 M5x0,8 G1/8 G1/8 6511.32.0.1 32 20
GB 9 10 11 16 16 18 6311.32.D.2
L 10 13 17 21 24 28 6311.40.D 30
LA 7 9 12,5 14 15 18 6311.40.D.1 40 20
LB 15 19 24 29 32 38 6311.40.D.2
LD 455 57,5 69 80 100 117
LE 34 43 54 64 70 86
o \ 18 23 27 32 35 40
| Useful depth 1,5 1,5 1,5 1,5 1,5 1,5
N M4x0,7 M5x0,8 M6x1 M8x1,25 M10x1,5 M10x1,5
NO 7 8 10 12 15 18
NB 20 25 30 40 50 60
P 0,5 0,5 1 1 1 1
ZA 24 | 39 | 57 | 26 [ 50 | 70 | 32 | 68 | 88 | 38 | 86 | 104 | 54 | 104 | 148 | 72 | 130 | 170
5 [ closed 56 | 78 | 96 | 68 | 110 | 130 | 82 | 142 | 162 | 100 | 182 | 200 | 150 | 198 | 242 | 188 | 246 | 286
| open 76 | 118 | 156 | 98 | 170 | 210 | 122 | 222 | 262 | 150 | 282 | 320 | 220 | 318 | 402 | 288 | 406 | 486
zC 51 | 67 | 85 | 60 | 90 | 110 | 71 | 113 | 133 | 88 | 142 | 160 | 110 | 158 | 202 | 148 | 206 | 246
ZD 36 | 52 | 70 | 45 | 75 | 95 | 58 | 100 | 120 | 70 | 124 | 142 | 86 | 134 | 178 | 116 | 174 | 214
ZE 38 | 54 | 72 | 40 | 70 [ 90 | 54 | 96 | 116 | 66 | 120 | 138 | / / / / / /
ZF 26 | 42 | 60 | 28 | 58 | 78 | 38 | 80 | 100 | 48 | 102 | 120 | 60 | 108 | 152 | 80 | 138 | 178
2G_ [open 100 | 142 | 180 | 128 | 200 | 240 | 160 | 260 | 300 | 196 | 328 | 366 | 272 | 370 | 454 | 348 | 466 | 546
ZH 135] 14 | 14 | 17 | 20 | 20 [195]225|225] 25 | 28 | 28 | 28 27 38
Weight (g) 280 | 350 | 430 | 600 | 800 | 950 | 1000 | 1500 | 1700 | 1700 | 2500 | 2800 | 2900 | 3800 | 4700 | 5300 | 6850 | 7900
20 | 40 [ 60 [ 30 | 60 | 80 | 40 | 80 | 100 | 50 | 100 | 120 | 70 | 120 | 160 | 100 | 160 | 200
Stroke

\. 02-384-5701 % info@factocomponents.co.th & www.factocomponents.co.th (*) Line: @134ovdbx



Pneumatic grippers /

Series 6300
PNELMARX
Operating criteria
Gripping force
Opening/closing stroke
Basic version Versions 1and 2 Basic version Versions 1and 2
- o S B~ R . O S
I N I N A R . S — 1) i —
B T T g AT T g | T e~
gzow,LJ,J 820 — Lo ll_LJ_1 3 — —=l— - 8 40*4;‘77‘77‘77‘74
s Sbol 1 - R R A A - N e T~ ||
R e - @ =g 1 2 0 =T 2 30 | |~~~ ——
o S bor a 3 bor | | a | | |
Sl L= &1 S - \*\J\\_‘ g seort—— 1|
5 | 3 b | 5 | sl || 6 O — T = —[— == & 20 —|— =~ 11
2 bar 2 bar
5= — = 5 — - ol TT——1__| o T — |
[ Y N Lo el e
0 10 20 30 40 50 60 70 0 10 20 30 40 50 60 70 | | | | | | | | | |
@10 Distance H (mm) o210 Distance H (mm) 0 20 40 60 80 100 0 20 40 60 80 100
216 Distance H (mm) 216 Distance H (mm)
100— —— —— 100—— — — — - 160 _— = 160 - — — T —
et T [T cwr == 1T Tt T T T T
[ [ e | | | | | | | |
g Opw = T s O T T D e e M B e = R
g [ g [ e e 3 N \ 3 N | |
5 SOh e 1 o 5 60 m—t— — =+ 5 | | | 5 | | | |
2 3b‘ e 2 Bb‘ [ 2 80—+ — —|——+— 2 80*&%*4
5 or, S ar o 3 bar S 3 bor
g a0 H—— 0§ a4+ 8 T 1§ \ \ \
1] [ 0] [ e 5] N | | | | (6} ol 22 | | | \ P
O Y I N L O Y N N O==F T = O==F T — 71 @)
[ [ e | | | | | | | | —
0 20 40 60 80 100 120 140 0 20 40 60 80 100 120 140 0 40 80 120 160 0 40 80 120 160 )
220 Distance H (mm) 220 Distance H (mm) 925 Distance H (mm) 225 Distance H (mm) 5
=
SO0 = T 1 ] O —1 T T OEE =TT ] =
S ) B (R B o \ ! ! ! o ! ! ! ! a
= P N . 4 ?\T_f\f:‘:f __ 4 *N* -
s = I | | | = 5 bar 1 s 5 b T >
8 3 200w‘<}:‘; = 8 T ‘ ‘ ‘ 8 P ‘ ‘ ‘ o
s s \ 1 Bt E T g~y § st T e —
E’ g 150 T — —— == == g 3 bar | | | g 5 par | | | |
g 2 I I g 200 — 4 — = - g 200 — F — T——F —
0] & 1oom<1:;:*\* 1 1G] W & Te—L | \
S O el o — LI —T= wo——L_ I _—T_ |
M | | o | | | T t—L |
\ \ \ \ | \ \ \ \ \ |
0 40 80 120 160 200 0 40 80 120 160 200 0 50 100 150 200 0 50 100 150 200
232 Distance H (mm) 932 Distance H (mm) 240 Distance H (mm) 240 Distance H (mm)

?
3
®

|

|

£

|

|

|

[

T

|

\
o

\. 02-384-5701 % info@factocomponents.co.th & www.factocomponents.co.th (*) Line: @134ovdbx





